HTRGO1K to HTRGO04K gear datasheet.

S
S

S,
N7\
>\u||.m\ o

N

This datasheet shows our default types but there are other options.
Ask JVL in case you need something different.

Types:
Distribution of nominal torque Mnz [Nm]
[i] 1 2 5
KR 010 10 7 3
KR 020 24 15 10
KR 030 55 37 22
KR 040 120 85 45

Lubrication:

JVL

intelligent motors

duty HTRGO1K - HTRGO4K
$1 (continuous) Synthetic oil viscosity 150 VG 220
58 (Intermittent) NLGI grease consistency 00

Flange and versions:

LP LQ

P
-
=

single extension single extension + flange

JVLA/S - HTRGxxK-Version 1.1 -2021-10-29



Technical specifications:

HTRGO1K:
Mn2 | Ma2 | Mp2 | Ct N1 |Nimax| @s n
[Nm] | [Nm] | [Nm] arrinTin [min-1]|[min-1]| [aremin]| %
i=1 10 14 20 0.5 | 2000 | 4000
i=2 7 10 15 0.4 | 2500 | 5000 8 o7
i=5 3 4 6 0.2 3000 | 5000
HTRGO2K:
Mn2 | Ma2 | Mp2 | Ct N1 |Nimax| @s n
[Nm] | [Nm] | [Nm] arptimin] [min-1]|[min-1]| [arcmin]| %
i=1 24 35 50 1.4 | 2000 | 4000
i=2 15 21 30 1.1 2500 | 5000 g’ 97
i=5 10 13 20 0.7 | 3000 | 5000
HTRGO3K:
Mn2 | Ma2 Mp2 Ct N1 N1 max Ps n
[Nm] | [Nm] | [Nm] arrc\:lmin [min-1]{[min-1]|[arcmin] | %
i=1 55 75 | 110 4 1500 | 3500
i=2 37 52 75 5 2000 | 4500 8 97
i=35 22 29 45 2 2800 | 4500
HTRGO4K:
Mn2 | Maz | Mp2 Ct N1 |Nimax| @s M
[Nm] | [Nm] | [Nm] arr::lrrﬂin [min-1]|[min-1]|[arcmin] | %
i=1 120 | 170 | 240 1" 1500 | 3500
i=2 85 | 120 | 170 9 2000 | 4500 8’ 97
i=5 45 60 90 5 2500 | 4500

JVLA/S - HTRGxxK-Version 1.1 —2021-10-29

JVL

intelligent motors



JVL

intelligent motors
~-LP R2 max

A2 max 4
G — *Hoc

l,/ \/ Eé

]

Rzm“ Almml AZ. max
[N] [N] [N]
KR010 SB @ 1000 — 200
sB @ 1500 — 300

KR 020
HB I@l 3000 1500 600
SB @ 2000 _ 400

KR 030
HB E] 4000 2000 800
SB @ 3000 _ 600

KR 040
HB @] 5500 2750 1100

JVLA/S - HTRGxxK-Version 1.1 —2021-10-29



HTRGO1K* dimensions:

JVL

intelligent motors

30.5 N5 56 30.5
— f
12 N3 12
6 6
— L W
ISESim T AR R
[ NS U\ Y
47| UJ &

3 @ & O ’ B8 2
2 M SR r_l 2
& \ 4 e
T R |
56

1.2
34
01:@% N N1 N2 | N3 | N4 | N5 | Lmax
: min | max
NEMA23 motor:
(388 |6 635 7 8 O 052 10 11 12 127 - | 381 | 666 | 60 | 3 |Maxi0| 18 | 25 |
MAC400 motor:
soc |6 635 7 & o 95 10 1 12 127 14| 50 | 70 | e | 3 |mao| 23 | 30 |
NEMA34 motor:
|73A |6 635 7 8 9 952 10 11 12 127 14| 73 | 984 | 8 | 3 |mxa2| 25 | 32 |
LP type LQ type
112 44
43 44 6 @ 64
1. 25 3.5 5.5
JD' ‘ 'D 20 2.5 4 hg o b 1
s2]
] L - I i S— -
° ¢ 9 e 2
-[jJ( d}l— ‘ :::::::Ei ‘ ‘ ®
Al s M4x10 ]
a 12 k6 B

JVLA/S - HTRGxxK-Version 1.1 —2021-10-29



HTRGO02K* dimensions:

JVL

intelligent motors

38 N5 61 38
8 N3 kS
6.5 6.5 N4
[=\Smuisy=! w FE=AR ——
|- L hes SR
m 0 . E / \
o LH 2% a0 f 5 S Tt
wn Q Y 0
4 ml |1 ] E. g ' /
= ] - L
~. 1
[
@ N1
N2
5
]
185
37 26
>
@ p| <5 N | N1 | N2 | N3 | N& | N5 | Lemax
MAC400 motor:
\5001 ‘8 9 952 M 12 127 14 - - - - - ‘50‘70‘30\ 4 ‘M4x10‘34‘40

MAC800 motor:

‘70B1 ‘8 9 9852 11 12 127 14 15875 16 17 19 19.05‘ 70 ‘ 90 ‘

NEMA34 motor:

‘73A1 ‘8 9 952 11 12 127 14 - - -

LP type
133.5
52 53.5
1.5 28
JD' 'D_ 25 1.5 5hg _
] L . il
+ +
e o 6@
‘][[j L—_ﬂ' M5x12.5
16 k6

JVLA/S - HTRGxxK-Version 1.1 —2021-10-29

\ 73 ‘98.4‘

LQ type

80‘ 4 ‘M5x16‘34‘40‘

85‘ 4 ‘M5x16‘34‘40‘

"""""

———————
Frrrasssza

777777777

__________

@60 g6




HTRGO3K* dimensions:

JVL

intelligent motors

44.5 N5 81 - 44.5
22 N3 2
1 11 N4
B 3 W
IJZT\A = \| rIZL - X ——
@ HIRN a | BB
ﬁ ul . %@ / \
¢ —He < a8 ()
QF il oR fl 3 | )
ole || ¥ Tl « ] >
[ ‘ 1 [l ] >T
82 82 3 N1
89 N2
G o
H EI
| ASA
© o
23.5
47 4.6
(@ DT N | Nt | N2 | N3 | N4 | N5 | Lax
MACS800 motor:
‘7031 ‘ " 12 127 14 15 15875 16 19 - - ‘ 70 ‘ 90 | 100 ‘ 6.5 ‘M5x12‘ 28 ‘ 40 ‘
MAC1500/-3000/-4500 motor:
\11051 \ 1 12 127 14 15 15875 16 19 22 24 \ 110 \ 145 \ 120 \ 6.5 \ M8x20 \ 48 \ 60 \
LP type LQ type
164 65
63 65 7 @85
2 36 5 6.5
32 2 6ho _ 2 1
J[]"_h_:::n_l_’_"[f 9 P &
Tle oW h— — AR 1 | I, '
> - & S — @ -
] § b T @ N
i in M8x19 - B,
) 2216 I 5
; L&
T o76é

JVLA/S - HTRGxxK-Version 1.1 —2021-10-29




HTRGO04K* dimensions:

JVL

intelligent motors

N5 105 535
T
59 N3 39
1, + 195 1, 195 N4
i |
T HH | H 4 / —
% [9 e — \K o | w 5
[ : \
z| + © ]
s et 3 12 1O}
5 M oR 5 J
¢ le ‘h ¢ | AL A
- — - — i
101 101 @ N1
107 N2
Lmax L ®
] @ /\ ®
L | © © &
( (o) (o)
33.5 é
67 12.8
N1 N2 N3 N4 N5 Lmax

o5 "

MAC1500/-3000/-4500 motor:

- ‘ 110 ‘ 145 ‘ 130 ‘ 6.5 ‘ M8x20 ‘ 495 ‘ 60 ‘

‘ 110B1 ‘ 14 15875 16 19 22 24
LP type LQ type
206 75
73 75 10 @120
2 58 5 9
50 4 10n9 I 0.5
M= - i =%
7 T « L Ea = S
¢ ‘a =) | }: H [ b —
ffffffff @ — 1 8| @ -2
<+ + Lo HP--- ' O
1 )¥_ J’ ERREES Jig \Qi‘ }
Lnl 1] M12x28 g —
B - 32 18 IS Lyr;"
— S oor

JVLA/S - HTRGxxK-Version 1.1 —2021-10-29



